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Match the number of horses well
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Here are 2960 garrison, and 800 offences. 40 garrison will
die in battle every a day. 30 offences will die and 80 offences

add in battle every a day.
When will garrison and offence be the same number?
Answer is 2000 people in 25 days.
The solution of this problem,
2960 garrison minus 800 offences equals 2160 people.

80 offences joining the offence side minus fighting against
garrison and dying 30 offences. So the rest becomes 50
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FUH2960AVNT,. HRX40AFEA T, IIOHITSO00ALVT, HRXI30AELMNSOAEZT
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FTEFYERDODABEZRDHSH(2960—800=2160)
HOHDOBRIBAZHAIAHEKRDHSH(80—30=50)

SFUERODOBRIBEITHIABERL. TOABMTTFYDABEHDDABETES
(404+50=90) (2160=-90=24)

29 BHEFYERO DR AMRLIZIESB M7 DS,

ERCNF24BR TRATR2AMNELCICHES LS CEEMSCNICT—H RT (24+1=25)
SFUNTATEABZRODEIZ24BIZ5FYDH LK FEATLIKL0ANZEDTH(24 X 40=960)
NEFYDELED AN M5 (2960—960=2000)

offences. This offences plus 40 garrison who was knocked by _ - . .
S 24 s -~ l’ \ & lf OI : >
the offences equals 90. 2160 of the number of people NIE24 BFTISFYNRLAARTHY BOBOOEATZAHTELHS

between the garrison and the offences divided by 90 people

gives 24 days. This day plus 25 days. And, 24 days multiplied

by died 40 garrisons is 960 peoples. This is the number of
people who was knocked by garrisons. 2000 people who

subtracts this number from 2960 people is the other people.
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There is defense 2960 and by 40 people die every day. The attack have 800

% RA _ _
o people, by 30 people die every day, but by 30 people increase.
5:[}53[15 Fdo Cultures— ‘/ At first,Ifind number of people differences between in defense and attack.
BEOBATIIREUBROBMEN G ==OICKENENSFEL>T/INELE 75\6?;\ (2.960_800 = 2160) : _
BENSEEYREL TN DTN TR EI=/MNEIE T 3 ERA B YEST DT | find the number of people to increase every day of the attack.(80—30 = 50)
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Native horses such as kisoba and nomaba and so on have a good sense of balance, but are

unsuitable for movement for many hours because they can’t keep speed and stamina for many hours. becomes 2000 people and becomes the same power
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In the past in Japan, people didn’t have the idea of breed improvement so they repeated that they
used a small horse after using a big horse. This means a horse miniaturized as time goes by. So it is
assumed that the size of a horse in the past was larger than now.
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“The right to can ride a horse” was prescribed, the people who can ride a horse was a middle ranking
warrior and above payed 200 to 300 seki or above. People expect warrior and a low ranking warrior
can’t have a right to ride a horse.

HOBREDHTORITNBATEMNICKEZEST, HAHISKISFE TS
ZUREATERZEZRET EVSOMNRENLGRTLE,

The warriors of rank to some extant raise the horse individually on their own and ride the horse and
carry their role of army through conquering servicemen and attendants.
This is a standard form.
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| add the number of people to increase and decrease every day

Of defense and the attack,Idivide it by number of people differences between
number of people and attack of the defense by the number of people.

(40+50 = 90) (216060 = 24)

Then, the days when the power of the attack agrees with are identified as
defense, but this because it means that power becomes same on end of time
on 24th, | make up all day long(24+1 = 25)

To find the dead number of people of the defense. On 24th defense takes 40
people dying every day. (24 X 40 = 960)

| subtract this from the original number of people of the defense.

(2960—960 = 2000)

This is by 24th it is the number of people the defense dies and is the dead
number of people of the attack.

That is to say, on the 25th day the number of people of defense and the attack
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It takes a long time than | think from the original text translation into
Japanese , we have a little time to work English translation. But each of
member carry out own part having a responsibility, we could finish work.

| found it useful to study WASAN to connect classical literature, Japanese
history, and modern math. We want to use what we studied.
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When we solve this question. we do not use math that junior high school students

and high school students learn. So it is possible to solve with only knowledge of
elementary school students. However, there are points that“¥5 " stands for “10”
and so on. It takes many times to solve problems because the use for kanji now is
different from the past. So we think that we need to know well about old cultures
and meanings of kaniji. If we have a chance, we try to solve other problems.
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